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Quistion: 1 (8marks)

Determine the magnitude and direction of the resultant force acting on the bracket
(take F;= 250 Ib,and ®= 30°)

F;=3001b

F3=2601b
(F)z = 25000s30° = 21651 Ib (Fj)y =250sin 30° = 125 Ib
(F)x -30!{%]= 240 Ib (fi}:=30c(§]=mmh
{ﬁ);=Mf{l—53]=lﬂGlh (&), = %):mm

LE(FR)y=ZF; (Fg)y=216.51+ 240- 100 = 356.51 Ib —
+ TI(Fp)y =TFy; (Fr)y =125-180-240=-2951b=2951b |

- (F.ﬁ']I I N —
oo [(Fﬂ:]-m {355—'51] 8 Fr = f(FR)s2 +(Fp),? =356.51% + 2957 = ac31b
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Quistion: 2 (8marks)

Determine the tension developed in cables AB , AC, AD required for equilibrium 300-1b
crate.

Fap = Fag 2FAB'+3FABJ+%FABI‘

[ (2- 0%+ (1-0) J+ (2~ Ok
| 42— 02 + - 0)2 +(2-0)2

Fao = Fuc (2-00+(=2-+(1-0)k =-3F£i-_2.ij+.l.FAck
| ¥(-2- 0% +(-2-0)% +(1-0)° 3 3 3

Fap = Fypi

W =[-300k] Ib

IF=0, Fp+Fu +Fpp+W=0
. O 2 2 1
"EFM'*;FABJ"'_SFABk + -;Fmi-—F,cj-i-—Flck +Fpp i+ (-300k) =0

(-—FM—S K;+FAD} ( AB——F,C} (—FA”-B-FAC -300)!( 0

2 2
—=Fup —=Fu~ + Fary =0
3 AR 3 AC AD
1 2 =
5 | Fy = 1801b




Quistion 3

Determine the moment produce by the force about point A.

C M

70 3in60°(0.7) + 70 cos60°(0.5)

73.94 = 73.9 N-m)

Ans

(4 marks)
A

=

0.9m
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